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QUESTION 1

1.

20 sites with two-node clusters in Singapore

2.

20 sites with two-node clusters in Japan

3.

30 sites with two-node clusters in Australia

The HQ and main datacenter is based in Hong Kong.
What is the minimum number of Witness VMs the administrator should configure at the Hong Kong HQ datacenter?
Al

B. 2

C.3

D.4

Correct Answer: B

QUESTION 2

Which Prism Dashboard should be used to collect CPU/Memory and Disk I/O statistics over time?
A. Health

B. Alerts

C. Hardware

D. Analysis

Correct Answer: D

QUESTION 3

An administrator responsible for a VDI environment needs to investigate reports of slow logins. The administrator finds
that increasing the number of vCPUs from 2 to 4 will reduce the login times. Production workloads are consuming 75%
of the host CPU on the cluster. The administrator increases the vCPU count on all of the VDI VMs.

What are two impacts on the cluster? (Choose two)

A. Increasing CPU counts will decrease memory utilization
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B. Increase memory utilization%
C. Increase CPU utilization%
D. Increase CPU ready%

Correct Answer: AB

QUESTION 4
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Which Nutanix Product combines the Distributed Storage Fabric and App Mobility Fabric?

A. Xtract
B. Prism
C. Acropolis
D. Calm

Correct Answer: C

QUESTION 5

An administrator has a 4-node Nutanix cluster running on AHV. The administrator creates a new storage container and

makes that all available to all hosts.

Which storage protocol is used for Virtual Machines to access virtual disks on the storage container?

A. NFS

B. SMB/CIFS
C.iscsl

D. Fiber Channel

Correct Answer: C
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